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a(e){f(x) +g(z)} = a(z)f(z) + a(z)g(z)
a(e){af(z)} = a-a(z)f(z)

oobooboooobooo,
a(x) € Hom(V,V) (33)

00000000000.000,(30)0,(33)00(0)0000000, ax(z) eV O
oo,

dn
an(:U)OD":an(a:)%eHom(V,V) (34)
O0000o0ooooo0.ooo,(31)000booD 34 000DU00,00o0booooo
O0000,neN, ay(z),a1(z), - ,an(x) eV OOO,

mn dn—l d
L:an(x)——i—an_l(x)m—l—---—i—al(x)%—l—ao(x) V-V (35)

dz™
DDDDDDDDDDDDDDDDDDDDD.DDDDD,(SS)DDDDDDDDDD
gooooooooooon.
ooooooooooooo,ooo,o010o000

f'(@) = 3f'(x) +2f(x) =0 (36)
gogoooobobon, )
d d
ooo,
L(f) =0

ZODDDDDDDDDDDDDDDDDDD,DDDDDDDDDDDDDDDDDDDDDDDDDDD
0.000000,a(z)evVO000,a(z) 00000000 (multiplication) O,

ma(x):V—>V
gobooooooobooooobooooooooooon.
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0000000000000000000000.00,L:V -V 000000000
0000000, f,geV,acROOO,

L(f)=0,L(g) =0 = L(f+g)=L(f)+L(g) =0+0=0
L(f)=0 = L(af)=a-L(f)=a-0=0

0000000000000, (36) 0000000oo0ooonoon

Wi ={feV]f'(x)-3f(z) +2f(x) =0}

0 VOOOOOOOOOOOOO0OOO0OO0,000000000000000000000
ooog.
ooooo,

ubooobooaoboodd,

0ooooo0o0o,0o0o0o,

dnf dn—lf
() g dz 1

gbooboobooboooooboon,

@+ a@ D @) ta@i@=0 @)

() + an—1(z)

W ={feV]aa)f"(z)+ - +ai(a)f(z) +ao(z) f(z) =0}

obobobobobo,wuo vioobooooooogoooooogoog.

000,37 000000000000O0O00O0O0O0LOO0O0O,00bO0oUoo
gbobooooooobooboboooobobobo,0b0ooooD0 wOooo
0000000000000O0000U00oooooooOOO0. Ooo0,@B7nooooo
goboobooboobooobooboboboob,0bboo,0obboobbooo
gbobodgbboooouoobbooobuoaobbooboobboo,boobboaboo
gogboboooobobooo,ooobuoooboboooobooooo,bboooooo
000 (0000000000000 U0O0O000DO0O0O0ODO0O0OUODOOO)OOO
gbobodgbgobooboboobogboobobooboboobooboann
gb.oobo,0b0oobooooobo,boobooboboooobooboobooon
gbobobobooogobogoogo,0ooobooon0 wbboooooooooooo
00000000opooo0. 000,neNDODODO,(ODO0O0O0O0 )nODO0OO0DODODODOO
ugboogoo

Vo ={f(x)=ap+ar1x+ - +anz"| ag,a1, - ,a, ER }

o,0b0bobob wobooboboobobobobobobo,

dn+1f

W(x}zo — f(x) 0 n0OO0O0O0O0O0O0O
x

18



gooooooooono,
Vo={feV|fHa)=0}

oooooo,v, bbb ooboooobooooboog
gooooboob.
go,00dob wwwobooobuooobooboboobooooboooboooo
goooobooobooo. 0o o,ggooboboboboboo,bbodddooooon
gooooboobobobOo,b0ob0buobo wOoobobobUoboboboo
ggoodoooooobo.oboobob,bdddooo,oooooooobobooooaoa
goooooooono wwbhooobhooboooobooobooboooobooo. o
go,gobobooobbooob,0obbooobbooobbuooobbooobobog
gogoooooon.
00,0100,
ap —3ap-1+2a,-2=0, (n=2/3,4,--) (38)

O000000ooooo,3)ooooooooo
Vi={a={an}tn=012| an —3an—1+2a,2=0, (n=2,3,4---) }

00000000000.00,n=23,4,---0000,(38) 000000000000
ooooo,

as—3a1 + 2a9 =0
as—3as + 2a1 =0
as—3asz + 2a2 =0

goboobooboo.obg,bedbbo2b00b0ooonO,

ag

a

Ww>>a= {an}nzo,lg,... —— X = a2 € R*® (39)

gbooobobD,0bb00bbd0occ 0bbO0OnoonOon

ao
ai

x=| *

19



0000 co0D0O0O0ODOOOO0ODOODOOUODOOODOOOOOOOOOO. OO0, (39)
goooooog,

2 -3 1 0 0 a0 0
0 2 -3 1 0 ar 0

0oo,v, 0,
Vi={xeR® Ax =0}

DDDDDDDDDDDDDDDDDDDDDDDDDDDDD.DDD,(39)DDDD
ogooo,

as — 3a1 + 2ag

az — 3as + 2aq

Vi 3 {anio — 3ani1 + 200 neo 0, —— Ax = | 04 =33+ 202 | ¢ g

000000000000 000,Vi0,a={ay}tn=012.-€Vn 0000,
F(a) = {(Ln+2 — 3an+1 + 2an}n:0’172’,,_ (40)

gooooooooooon
F:W—W

oooo,
V1 = {a = {an}n:071,27... c VN‘ F(a) =0 } (41)

00000000000000D000000000.
000,00,010 (2)000000000000000000000000000.
0000, a={an}n=012.. €V OODODO,

T(a) = {ant1}n=0,1,2,- (42)
000000000000 OO0O0
T:Vy — W

ooooooo.2toooo,
T(a) = {bn}n:071’27... (43)

'0100,000,()0 fra(x) 000000000,0000000000000000000000
00,T(d)000,00,Ta00000000,0000,000000000000000, T(a) 000
000,00000000000000000000.

20



0000o0oooooo, (42)oo00,
bn:an+1 (44)
00000ooooooo. ooo, 3)00000,000, 70000000,

T%(a) = T(T(a))
= {bnt1}n=012,- (43)0D0 TODOOOO)
= {an+2}n=0,12,- ((44)0D00)

ooooooooooobo,
TQ(a) = {ant2}n=0,12,- (45)
ooooooooooo.oo,o00 F:VWw— VWO,
F(a) = {an+2 — 3an+1 + 2an }n=0,1,2,-

O0o0o0o0oooooo0ooooo, (42)0,ds) 00000ooO,

F(a) = {ant2 — 3any1 + 2an Fn=0,1,2,..
= {ant+2}n=0,12~ — 3 {@n+1}tn=01,2,- + 2 {an}tn=0,12,-
=T%a)-3-T(a)+2-a
= (T% - 3T 4 2)(a)

0000000000000, 000,00 FOTO0OO0O,
F=T?-3T+2 (46)

goboobooboboobooobog.
oo, 00o0oooboobooobooo T:-w—-=\Wwoooooooogo. oo
oo, r7gobgbgobobobo,0o0o0o0oooooooo. oo,

a= {an}n:0,1,2,~--a b = {bn}n:O,l,Q,m € W

goono,
at+b= {an + bn}n:O,l,Z,---

gooboobag,

T(a+b) = {ant1 + bat1tn=012,-
= {an+1}n=0,12, + {bnt1}n=01,2,-
=T(a)+T(b) (47)

obobobobobo.booboooob,eeROODO,
aa = {a- aptn=012,-

21



googooag,

T(ca) = {a - ans1}n=0,12,-

= Q- {an+1}n20,1,2,---
— o T(a) (48)

00000000000, 000, 47)0,d8)000,T:Vw—WwO00oooooo
ogoooooo. oooo,
T € Hom(Vy, Wn) (49)

DOoDO00DO0DOoooo.
000,49 00000000000000000,000000000000000
DOooO00oOooooo,
F =T?% - 3T + 2 € Hom(Vy, W)

00000000000.0000,F:W—Vw00000000000oooooo. O
00,000000000000000,abeVy,acRO000,

F(a)=0,F(b)=0 = F(a+b)=F(a)+F(b)=0+0=0
=0 = F(eca)=a-F(a)=a-0=0

goooooooooooaa,
Vlz{a:{an}n:()’m’... EVN| F(a):0}

0 VWwOO0O0OO00OO0OO0O0O000,00000000000000000000000
oo.22
00000,keN, ag,aq,---,ap, cRODO0O,

F:aka—{—ozk_lTk_l+~-+oz1T—1—ozo:VN—>VN
ooood, 00000, FOOOOOOooooOoOoOooooooag,
V ={a={antn=012- € W| F(a)=0} (50)
O Wwiboooooooooooooooooo. oo,

a= {an}n=0,1,2,---

F(a) = (ogT" + o1 TF '+ -+ T + o) (a)
=ap-TF@) + o -TFYHa)+ -+ oy -T(a) +ap - a

= oy - {ntktn=012 + k-1 {@ntk—1}tn=01,2, + -

2010 ()ooooo,00,00000000000, V0 WOOOOOODOOODOODOOOODOOO
oo.

22



+ a1 - {ant1tn=01.2, + 0 - {an}n=0,12,.

={ak ik + Q1 Qpgg—1 + -+ 01 Anp1 + Q0 - Ap =012,
DDDDDDDDDDDDD,F(a)zODDDDDD,
Q- Apik + Qg—1 - Qpik—1+ -+ Q1 - app1 +ao-ap, =0, (n=0,1,2,--) (51)

O00000000ooO0O00000oooooooooooo.ooo, (y)yooooo
00000000000 00O0O0000.Doooooo,(s0)ooooo,Loooo
gboobooooboooobobobooooobob, bbb wbhoboboooo
gbobobobobobobobobobobob.

3 0100000

00000000000000000,000000000000000000000
00,00000000000000000,0000000000000000000
00000000.000,0000,0000000000,000000000000
000000000000,01000000000.000000000000000
00000,40,5000,0000000000000000000000000000
000000000,0000,00000000000000000000000,00
00000000000000000000. 000,000000000000000
0000,0000,0100000000,00000000000000000000
ooooooooo.
000,00000000000000000000,000000000000000
000,00000000000000000000000000.000,000000
0,000000000.00,00 f(z) 0O,

f(z) = ap+ a1x + agx® + - + apz™ + - - (52)

goboobooobboooboobooooboon,
s gboboobooobobooooobo ~

(i) (52) 00 0000O0OOODOOOO,z0000000O0O0OO,0D0O
00 #0000 000000000,00 @, 00000000000
go.

(i) ))OoO0O0DoOoOO0OO0OO0O0O0O0OO0,00 @, 000000,00000

00ooo0o,(2)0000,0000000000000OO. J
N

0000000. 000, (2) 0000000000000 00LDO0O0ODOOUOOO
ubboobuodobo,oobbooobouoobobooboobbooboobbooboo
goooo,0boboobooooooboobooonobobo.obo,boboooooboo
ooooooooooooooooooo,b0 10 )oooooo,

f(x):ao—l—alx—l—%xz—i—‘--—l-%x"—k-” (53)
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ooobDooD, Taylor OO ODODOO0OO0DO0O0ODOODODOOO,0Db0D0ODOOOO

gbooboooooooo,obobobobooboooooboooooboooon.
gboo,b0b00o0boboboooooboaoboo,bboooboboooooboboooon

gooboo.boobboobogb,gobo,0i10boooon

f'(@) =3f'(x) +2f(x) =0 (54)

0000000000000 00000O00O0O00Uo0OO0. 00,00 f(x)0O,((3)000
O00000000000O0O000oO, (3)00 (4)D0DD0OOU0OODO,z0000
O00000oooooo0. 000,010 4)oooooog,

o0

P(@) = 3f (2) +2f (@) = 3

n=0

An42 — 3ant1 + 2a, 2"
n!

(55)

O000000ooooo0o. o000, (s) 00000000 0UDOODODOODUUOOOO

O0,(G5) 000000000000 000O00D oOUOOODUOOOODOOOO,
f"(z) =3f'(x) +2f(z) =0 < api2 —3ant1 +2a, =0, (n=0,1,2,---) (56)

00000000000.0000,(4) 0000000000000, (56)00000
000000000000000000000. 000,00000000000000
00,40000000000,

a, = (2”—1)&14—(2—2”)@0
:(2a0—a1)-1+(a1—a0)-2"
goooooooooooa,
00:2a0—a1, Cl1 = a1 — Qo

OO0
an=co-1+cy-2" (57)

00000o0ooopooooo.ooo, (oo (3)oooooooo,

fla) =3 2

n=0

> co-1+c¢-2" n
=>. | r

=z = (2z)"
:00'25“1'2 !
n=0 n=0 )

2z

= cpe” + cre

ooooo0o, (b4 000000000O00COODODODODOOOD. DOO,0D00000
0000000000, 00000000000OO0000UOoooooOO,o0 100, (56)
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000«=00000000000000000000000000000. 00,00
00000000,0000000000000000000000000000000
0,0000000000000 ej,e;€V,0000,00000 fe (a),fe(r) 000
00000000000000000000.
000,000000000000000000000000000000000000
000000000, (56)00000,0000000000000000000000
noooao,
C*R)={f:R—R|f000000000000 }

000,010 (30000,

a a
W a={ap}tn=012. < falx)=0a0+a1z+ 2—?x2 + §x3 +.-- € C®(R) (58)

O0000000,000000000WOD0D(00000000D0)00000000
D0D0C>®R)00000000000000OODOOOO.2

oo,
a={antn=012-, b={bptn=012-.€ W
oooo,
a+b={an+by}tn=012,-
goooooa,

[e.9]

farp(a) = 3t b

n!

n=0
. a b
n n
=D )yt
n=0 n=0
= fa(®) + fo(2) (59)
00doopoooooo.0bo000dd,ceROO0O00,
aa:{a'an}nzo,l,Z,--~

goboboobg,

=« - fa(x) (60)

00000000000.000,(59)0,(60)000,(8) 00000000000,

®000000000,a={an}n-o12.. €VWOOOODOD,000000 fa(z)0,00000 z€R

0000,00000000000000000000000, feC®R)000000,00 f(z)O, (53)
00000000000000000000000000000000000000,0000,00000
0000000000,0000000000000.
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(—DDDDDDDDDDDDDDDDDDDDDDD(DD 1)ﬁ

gooono oooooooo
VN “g” COO(R)
a — fa(z)
b — fo(z)
a+b — fa(z) + fo(z)
aa — a- fa(x)
N\ J

gboooboo,boboodoobooobooooobooboobooboboobgan
0D0000000000000000000000oooO.
oo,000000000000000000

T:VWw— W
ooo0oOo,010 (p)oooooao,
dfa
a = 5 1
fra(e) = P2 (61)
gooooooooog. oono,
d

ggoooo, bbb booodooooouoobooooboboboboobooono
O00000o0O000O000oooo0oooooo. oo, (k) oooooooooooo
00 f(x) e C*(R) O Taylor OO0 OO

Fla) = £ + £/0) + L% f';(!()) P
000000, f(z) eC®R) 0000000 ape e WO,
s = {f™(0)}n=0,12- € W (63)

gooooOoOoOoOOOOODOODOODO. O100,(61) 00000000000, (62)
O0ooOo0oooOooooOooooooo,(e3)ooooooooooo,

T(agpy) = {/™™(0)}nz01.2,-

{9

=a
L)

n=0,1,2,

000o0000ooo0oUoo,(62) 000000000 U0oo0,000o0ooUooo
ugbooooobgaad.

24DDI:II:I[I[I[I[I[I,DDDDDDDDD,(58)DDDDDDDDDDDDDDDDDDDD,VN[I VR
oooooooowe“="Wwoooooooo« »oOo00000000b0b00O0O0O00o.
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00,20000000,

d? d
L= =342
=D?-3D+2
0000, (s4) 00000000,
L(f)=0

0000000000000 00oooooo. oo, (61)ooao,

D(fa) = fr(a)
000o0ooo, (8) 00000000000, 0000000000000 UOOoOoUoO

goooooooooooooooooooooooooooooooooooooono
0,a={an}n=0,1,2,.€WOOO,

L(fa) = (D* = 3D+ 2)fa
= D?fa —3Dfa +2fa
= D(D(fa)) = 3(D(fa)) + 2fa
= D(fr(a)) — 3(fr() +2fa
= Jr2(a) — [37(a) T+ f2a
= fT2(a)-37(a)+2a

= f(r2—37+42)(a)
D00D0000000O0. 00000,
F=T?-3T+2:Vy— W «— L=D?>-3D+2:C®R)— C®R)

gboogoobooboooboon.
o000, () 00000000000, 000000 oooOooOOooooOoo,

K—DDDDDDDDDDDDDDDDDDDDDDD(DD 2)ﬁ

ooooo oooo0000o0
Vi “ow C>®(R)
000000 :T:Vy—VW «— 00:D=4%4:C%R)—C®R)
F=T?-3T+2:VWw—W +— L=D?>-3D+2:C>®(R)— C>®(R)
00000 : F(a)=0 — 00000000 : L(f)=0

-
gboooboboobooobobooboo. bo,booboooboboobog,bobo

O00000000000O0o0oO0oooU0ooO,0000,(s8) OO OOOOO,
0000o0o00o0ooooon0 L(f)=00,00000000000000 F(a)=0
gbooboooobooooooooooooooooo.
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DD0000000000000000000,00 a={an},—gs..0000,0
0z0O0000,

© an

f(x)_nZ::o"!w
00000000%00000000000000000000000000O000. 00
O0,0000000000000000000000000000DOO00. DOoOoOo
goddoudobooooooouoooouoooouooouooooo,booboouoa
oo ooooo b oo ooooo, oo
O00o0o0oo0o0oooo,0000ooo00oooooooooon. oooo, o0
O0DOO0oO0obOooooo, Taylor0oOODOoOoOoDOOODODOOODOOOODODOO, d
godjddddddddooooooo, 0, o oo
00000000000, 0000000000000 oooooooooog, o
oo obuooobobou, togbobooooooboooao
gooood.

4 O040O00OOo0oooobooboon

oo,300boboboboo,010 i vwwbobobobob oo

an — 3ap—1 + 2ap_9 = 07 (n = 27 37 47 T ) (64)

ap — 2an—1 +an—2 = 07 (n = 27 37 47 T ) (65)

0000000000000 00000000000000. 000,00000000
0000000000000 000000000000000000000. 00000
0000000000000,00000000000000000,0000, (64)00
000000000000 O00OoOoooono.
0600020000000000000,(64)00000000000000000
0000000000000, (64) 0000000 (an—1,@n—2) 00 a, 100000
00000,00000 ap—y 0000000,0 (@n_1,an—2) 00 (@n,an_1) 000
0000000000000000000000. 0000, (64) 000000,

an — 3ap—1+2ap—2 =0 < a, = 3a,-1 — 2a,—2 (66)
ap = 30p_1 — 20p_
— n n—1 n—2 (67)

ap—1 = An-1

(02% 3 =2 an—1
=(n)-0d)m) -

goooooooooooooooooogoobooon.

»00000000,00 a={a.} . 0o0oO0O0D0o0O0D00Ooooo.

n=0,1,2,--
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000, (64) 000000 (66) 0000000000, (66) 000 (an_1,ans) 00
e, 0000000000000,0000,

an—1 = Gp—1

0000000o0o0ooooooooo, (fryooboooooDooOoOoOoO,0ooDo
0000000000000 U0DUUoUOoOO0O. oooo.0 (ap-1,an—2) OOOOODO
000 @, 00000000000000000000O0O,0 (an,an—1) 00 apy OO0
goooooooooogoooooob e, 00DOODODOOD @, 00000000
00 (an,a,—1) 000000000000 DOOOOOOOOOOOOOOODOODDOO,
0000000000000000000,0 (ap-1,a,—2) 000000000 (ap,an-1)
gbobooobooboobooboobobobobo,oboo0oo0ooooobooooooooon
gboogbdg,bggbooboboobooboboboobooboobooobooooan,
gbooobobooboobbooboobboon.

oo,
3 -2
A=
1 0
0000000000, (68) 000, (64) 000000,
00000000000000000000 (300000000)

)= ! (69)

Gn—1 an—2
0odoOooodbooOoboDOooodbOooboOo,00b0ob0obo0oobo0 AOdboooooo
DDDDDDDDDDDDDDD.DDD,(GQ)DDDDDD,DDDDDDDDDDD,

o0oooooooooo.ooo, (vo)ooo,
000000000OOoO0O0o0oDOoOoOooooooO(3ooooooono)

)l e

gobooobooobobo,ooobooobobooobbooobbd e, OOO0DOO
oooo A"00000 A0 nOO0OO0O0O0OO0OOODOOOOOOOOOODDOO.
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000,0 A"00000000000000,(69)0000000000000000
00000000000.00000,0000 200000000000000000
00000000000000000000000.30000000,0000,000
0000000, ap,n €eROODO,

oa1ay, + aganp—1 =0 (72)

O00000oo0o0oO0o0ooO0o0D. 0o0,p=00000000,(72)0000
00 20000000000000000000,;y#000000000D00000O
0o0.000,(72) 00000 ;pOO0OOooODO,000,

Qo
a=——
aq

000000000, 00,aceRO00,
0000000000 (200000000)

an — ap_1 =0 (73)

0000000000000002000000000000000000000000
0o0.000,(73)00,

0000000000OoooOOoO (2000OoO0000)

O000000oooooO0oooooooo,()booooooooooo,
000000000 0o0oUo (200000000)

an = aag (75)

00000000000.0000,20000000000,000000000000
{@n}n=012..00,000 «a0000000000000000000000

000000000, (69) 0, (71) 00,0000, (74) 0, (75) 000000000
30000000000,0000000000000000000 AOOOOOOOO
000D0000000000000. 00,

X, = ( n > € R? (76)
an—1

0000000000, (9 0, (71) 00,0000

X, = AXp_1

x, = A" 1x;

(72) 00 (74) 000000000000 00,0=20000,a=-2 00000000000.
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0000000000000,000000000{xn}n=0,1,2,..000000 AOODO
goooooooogooooboooboobogoboboobo.bobobobo

ap — 3ap—1 + 26,0 =0

(77)

000000000000000,00000000000000000000,2000
000000000000,00 {an}n=o1,2,.- 000000, (76) 0000000 R2
0000 {Xn}n=012..000000000000000000000000,270000
A000000D0,20 2000000000000,200,0000A0000000
0,(77) 000000 (67) 0000000000000000000000,0000
00,0000000000000,000,00000000000000000000.

0000,30000000000000000,000,,000000000000
0000000000000,00000000000000000000000000

goooooo.oon,

ap — 3ap_1 + 3an—2 —ap_3 =0, (n:3>4751) (78)
ooodooo40000000o0oooOoOo,
ap —3ap_1+ 30,9 —an_3=0 < a, =3a,_1—3ap_2+ an_3
ap = 3ap—1 — 3ap—2 + an_3
— Gp—1 = Gp—1
an—2 = An—2
a, 3 -3 1\ [ any
— Ap—1 = 1 0 Ap—2
an—2 0 1 0 Ap—3
dooboooooooooooooooa,
3 -3 1
A=11 0 O
0 1 0
DDD,(78)DDDDDD,
O00oo0ooooooooooooooon (4[||:J|:|[||:||:J|:|[|)
anp, Gp—1
an_l :A an_2 (79)
an—2 an—3

000000ooooooooooooo.0ooo, (9 ooo,

*20000000000,0 {an}tno1... 0000 ROOOODO0OOOO0000000O0000O.
*20000000000,000 010 100000000000000000000.
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0000000000000 000O0DOOOO0OO (400000O0ODO0O)

anp, a2
an—1 = A"? ay
Gn—2 ago

ugbobdobobobobo,oboboob gobobobobobobobobOobd an
ooooooodoo0 A0000d0 ADn0OOQOODOODOODOODOODOOO
oo.

ooo,000neNODOO,00000CO00 ADOODO, AnO0O0O0O0O0DOO
Oooo0ooOo0oDO0o0o0O0O0o0DbOO0. Jooobo0oogooooboooD AoOoo
O,0000000C0C0000,0000000000 AQOOOO,

PlAP =A (80)

O0O000D0000000000D0 AOOODOD POOOOOOOOOOODOOOO
0000000000000 D0000D. 0000,0000000000000000
oooogooo,(8)ooa,

A= PAP!

D000DO00000o0ooooaa,
A" = (PAPH"
= (PAP YHY(PAPY) ... (PAPTY)

n 0
= PA"P! (81)

0000000O0000. 000,0000000000 AOOO,000,000000
0000,A"00000000000000000000000000000000,0
0,(81)00000,4A"00000000000000000.
00000,0000000000000000000000,00000000000
000000000000000,000000000000000000000000
000000000000000000. 000,000000,000000000 4
0 (80)000000000000000000,000000000000000000
0000000000000000000000000000,00000000000
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wA(t) = det(t] — A) (82)

32



00000000000 mO0000 ga() 000 ADODDODOOOOOOOO. OO
0,00, cocr, - emo1 ERO00,00 ADDDDDD @at) O,

wAlt) =t" + e t™ 4 F et 4o (83)

0000000000.0000,00000 g4(¢) 000 t00000,000000
0 AO000OO,

WA(A) =A™ 4 e 1 A 4 Aol

odo0dododooodooodooo,ooooooa,
Cayley-Hamilton O [0 [

pa(A) =0 (84)

000000, eu(A)000000OO00OO0OOOOOOUOOODOOOOOODO,000
00, Cayley-Hamilton 0 0O O0O0OO00O. 00O, (84) 00O, (82) 00000 OOO
000 ¢+0000000 AQOOODOODOOOODOOOOO

det(AI — A) = det(A — A)
= detO
—0 (85)
000000o0o0o0o0o00o0o0oooooooooo0.0ooo,(8s) 00,00,
(AI —A)=0

00000000000 00000000000000000000000000000
0o0,(84) 00, (82) 000000000, (83)0000000000000000
000,00 ¢+0000000 ADOOOOOOOOOO0O0000 guA)00000
000000000000000000000000000.

0ooo,wo0oo0o,
3 -2

A= 86

(10) )

t—3 2
-1

gboooood,

=(t—3)t+2
=t —3t+2
(t—1)(t —2) (87)

O00000000000.000,@70000000000 e4(t) 000 ¢t0000O0O,
(86) 00U LODOOUOO AOUDOOOUOO,

pa(A) = (A-1I)(A-2I)

33



02
o)

I
VR

00O00o000ooooo.
0ooooooo,V,oooo,

gooooog,

= (t—1) (89)

O000000000D0.000,(89) 0000000000 pa(t) 00D tOOOODO,
(88 0000000 ADooooooo,

0D0O00oo0O00ooooo.
00000, abedeROOO,

A:<Z Z) (90)

O000000,00 ADDDOOOO ea(t) O,
t—a b
—c t—d
=(t—a)(t—d)—bc

=1 — (a+ d)t + (ad — be) (91)

wa(t)

O00000000000.000,(91) 0000000000 pa(t) 000 tO00OODO,
(90)D000D00OO0OD0ODO ADDoooooo,

a(A) = A% — (a+ d)A + (ad — be)]

34



a b a b a b 10

(C d)( d)—(aer)(c d>+<ad_bc>(0 1)
a?+bc (a+d)b a’+ad (a+d)b ad — bc 0
(a+d)c be+ d? B (a+d)c ad+ d? * 0 ad — be

()

oooooooooon.®

00000000,000 mO0mO000 ADODOOOOOOOOOOOO, (84) 0
00000000000,0000000000000000000000000000
000,00,0000000000000000000000000000O0O000O0
ooooog.

00,00 A0 20 200000000000, 00 Cayley-Hamilton 0 OO0 000
0000,00000,000000 A~O00000000000.

00, 000000000000.000,0000000,000000,00 A0
00000 @a(t) O,

pa(t) = (t—1)(t—2)
0000000000000, Cayley-Hamilton 00000,

(A-I)(A—20)=0 (92)
00000000000.000,00,(92)00,

A(A—2I) = (A - 2I) (93)
00000000000003°000,(93)000,000000rneNOOOO,

A™M(A —2I) = A" LA(A — 2I)

= A" (A -2I) ((93)000)

= A"2A(A - 2I)

= A""2(A —2I) ((93) 000 )

= (A —2I) (94)

000000000003 0000, (93)00,0(A—2I) 0000000000, A
000000 100000000000000,0000000,0A*000000 1™
000000000000000000,(94)00000000000000.

POooooO, ealz)=(t—a)(t—d)—bc 000000000, pa(A)=(A—al)(A—dI)—bcI OO0
000000000000000000000000000.

00pon,(A-2)0000000000000000000O0O0000O0.

S, 000000000000000,0000000000000000.

35



ooooooo,(92) 00,
AA-T)=2(A-1) (95)

000000000000032000,00000,(95)000,000000 neNDO
ooa,

AMA—T)=A""TAA-T)
=A"1.2(A-1) ((95)000)
= 24" 1(A-1T)
= 2A"2A(A 1)
=2A"2.2(A 1) ((95) 000 )
=22A"2(A - 1)

= 2"(A-1) (96)

00000000000, 0000,00000,0000,(95)00,0(A—1)00
00000000, AO000000 200000000000000,0000000,
0 A"000000 2" 000000000000000000,(9) 00000000
000000. 000, (94) 0, (96) 000,

AL 94" = (A4 —21) (97)
AT AT = 2" (A - 1) (98)

0000000000000, (98) 000 (97) 0000000000,
A" = 9"(A 1) — (A—2I)
L2 =2 1 -2
-9 _
()02

2n+1 -1 2— 2n+1
= (99)
2" —1 2-—-2"

000000000002 000, (7)) 0, (99 000,
Qanp — gn! a1
anp—1 ag
o 2n=1 2-27 a1
S\t 2ot ag

32DEIEIEI,(A—I)DDDDDDDDDDDDDDDDDDDDDDDDDD.
¥00oO0000,0000300000000000000000000000000000000000
g,oobooooboooooooboooobooooo.

36



ooooooooooooo,vyooooooooooo
ap, — 3ap—1 +2ap_2=0, (n=2,3,4,--+)
goboooooboooooobooooa,
anp = (2" — Dag + (2 —-2")ag
ooooooooboooooooooa.
O0000,00 ACODODOOO ea(t) O,
pat) =t =Nt —p), A#Fp

000000,000000000 MpeCOODODOODOODODOOO, Cayley-
Hamilton 0O 0O OO,
(A=X)(A—ul)=0 (100)

O000oooooooo.ooo, (100) 0o,

goboobooooboobooo,boobpboobooobn,
20 20000 AO00OODO A0O0O0O0 (ODoOOOOO ApeOOOOO)
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d d
Yoy = L (500 (120000 )
d
= J0) (e
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